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QUESTION 1

Which of the following is not a part of an E2E Network Slice? 

A. Cloud Slice 

B. Core Slice 

C. Access Slice 

D. Transport Slice 

Correct Answer: A 

 

QUESTION 2

Which of the following drive 5G low latency? (Choose two.) 

A. Support of up to 1 billion of IoT and sensors devices per km2 

B. Lower Time Transmission Interval (TTI) 

C. Higher spectral efficiency 

D. Edge Clouds 

Correct Answer: BC 

 

QUESTION 3

Imagine that you are defining the 5G network requirements for the Industrial Automation of a port, what is the set of 5G
technology enablers and horizontal applications that makes sense? 

A. Automation of cargo handling and integration with the logistics chain is an Autonomous Container Transport vehicles
that requires 5G NR, Edge cloud and High SLA slices. 

B. Automation of cargo handling and integration with shorter ship turnaround times through improved predictability of
operations is a video inspection system of important large infrastructure that requires 5G NR, FWA and High SLA
slices. 

C. Automation of cargo handling and integration with the logistics chain is an Autonomous Container Transport vehicles
that requires 5G NR, central cloud and FWA. 

D. Automation of cargo handling and integration with shorter ship turnaround times through improved predictability of
operations is a video inspection system of important large infrastructure that requires 5G NR and central cloud. 

Correct Answer: A 

 

QUESTION 4
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What is the best solution for deploying an optimal network function distribution? 

A. Using duplicated Virtual Network Functions 

B. Using Virtual Network Functions to control the routing 

C. Using Virtual Network Functions orchestrated across various Cloud Data Centers 

D. Using Virtual Network Functions in Access 

Correct Answer: C 

 

QUESTION 5

A company is planning to offer services to different cities worldwide so drones can be used to scan disaster areas to
help identify victims\\' locations quickly, organize evacuations efficiently, and save lives. Drones will be connected to a
5G network. The company is planning to offer two applications running in the cloud ?one to manage drones through
remote control while the other offers live video streaming to drone operators. As a 5G professional, you are asked what
are the network requirements for those two applications? 

A. The drone control application needs very low latency to maneuver around obstacles, while the video application
would need less latency. Both applications would be running in the central cloud. 

B. The drone control application needs low latency and high reliability from the network and should run in the edge
cloud. The video application needs higher throughput but it is not sensitive from the latency and reliability point of view.
It can run in a central cloud. 

C. Both applications should run in the edge cloud because the drone control and video applications both require low
latency and high reliability from the network. 

D. The drone control application should run through a central cloud. The video streaming application should run in the
edge cloud because it carries much data, and that is expensive to run through the central cloud. 

Correct Answer: B 
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